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\ 2016 (A) = AR

‘ SBE BARTUI 1t LA S s
“BrSLOGY GROUPA ﬂzr; s )
TIME ALLOWED: 2.45 Hours SUBJECTIVE /512 s

MAXIMUM MARKS: 63 _ ¥
NOTE: - Write same question number —?Efﬂutﬁn-.‘.-é'f.-rﬂﬁ{. E-p:/:‘}:!ﬂlf?dl!ﬂi{ d U
and its part number on answer book, as given in the question paper.
SECTION- il

;. 20y
2. Attempt any six parts 12=2x6 -s{;ﬁ#;uimi:-df _zﬂd :
: ; 33 ll- - le
() Whatis the difference between Breathing and e G
Cellular Respiration. t@ 5

(i) Whatis Trachea?

=) b hkf g i l[ii]
(i) What is the difference between Acute Bronchitis and ?r;-d.-"'-.-ru‘-’- = Kine k1Sl 7 MH’:§

Chrenic Bronchitis?

e A A% :
_4ﬂ:£.rl.-“ué:'3’ urd.-'f (v}
f Cartilage. o
(iv) Write the names of any two lypes O a : W)
(v) Whatis the difference between Flexor Muscie and te GV ST A A
Extensor Muscle? £ s :
= gl (Vi)
(i) Write any two causes of Osteoporosis. -;;g ;?m} Lf,r': ;fﬁ .
] pif g
(vii) Define Food Chain and Food Web. g ,,' 'f: J G (i)
: i ixation? S
(viiiy VWhat is meant by Nitrogen Fixation? B A . 50 o
(ix) State the mutual relationship between Sucker fish and Shark. _%ugfu’.w "g“" "J}’J 3)-/75]!;-
10=2x5  -gegfeliaible s 37
e & LS S
() Dafine Osmoregulation. . ;

SRTATI | VAR

~- is functional unit of Kidney? .- L
(i) Whatis functio a5y S S Do U

(ili) Write two characteristics of Iarmhyﬁ' :
(iv) Differentiate between Self poliing ion ar
Cross Pollination.

What is meant by Gal
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| (2) - &
gECTIONAI (2~ $ o
g _Esfeel Ve 4 o
OTE: - Mgt am OISR sl el G
§(A) Whatis Preumonia’ Describe 18 o ;
4 ; i (s
in the formation
(B) \What steps are involved
mmhhw
3 _Loolnd s (s
8.(A) Explain Pancreas Gland e el irini lP7 (D)

5.4 Y I )
7.(A) Write any four types of i é-)f';ljfi: alag g0 e oY (

Natural Vegetative Propagation. ' 9 ' »
(B) Write note on Spore Formation and Parthenogenesis. 3 ~'4ﬂ=-‘-f£; l.f_ﬁ:" fg& s el

B.(A) Explain Mendel's Law of Segregation with 4 .é;.&ym{u"gf_:ﬁﬂﬂ# (21)-8

o

R O LAy S @R
il drugs. 3 -%mﬁﬁ-ﬁﬁqm@ ()
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2016 (A) A

/ SSC PART-Il (10th CLASS)
LOGY GROUP-I o -/ G

=0y

MAXIMUM MARKS: 63 A
NOTE: - Write same question number -'q'-f';#yﬁ 4—-{—.:!'f~r££ b;;ﬁx;;u-’dl:’{.ﬁiﬁé Ii.}l.ﬂ' -2

and its part number on answer book, as given in the question paper.
SECTION- Jile

ME ALLOWED: 2.45 Hours SUBJECTIVE 212 Z245
83

2. Attempt any six parts. 12=2x6 -é.{;{'-":ﬁz-'mfﬁy *2ﬂ?dl"'
(i) Differentiate between Bronchi and Bronchioles. -éﬁ-li:fbkyb‘: ""af 1 441 Jﬂ" (i
(i) Write down two symptomns of Amphysema. -«égfjﬁ'-l*”tﬁ‘:’-ﬁ Aty
(i) Write two effects of smoking on teeth. g Fetbgurhl B (i)
{iv) What is meant by Skeletal System or Skeleton? ?{-J!J’L"l- : kr'u

(v) What are Moveable Joints? Give one example. S feld T'f_:ygnu.’.’iRLu.Lf:ff {v)
(vi) Define Origin of Muscles. &L Sl i)
(vii) What is Predation? Give one example. el felf I-.:)ﬂi{ Luks (vii)
(viil) What is meant by Global Warming? Seslptfe Lk E (i)
(ix) Explain Dengue Fever briefly. -Ee uﬁﬁtﬁ o (ix)
3. Attempt any five parts. 10=2x5 Efenliabied 340y
(i) Whatis meant by Osmoregulation? f'.éd[.v'l!r- ui’*"):‘.rr'}i (]
(il Whatis Skin? Describe its function. . '.HE‘:;;JM._,H e L (i)

(i) Whatare Renal Cortex and Renal Medula? oy ke USRS (i)
(v) Whatis meant by Double Femlﬁfy ST HAAS W)
(v) Whatis Endosperm? . - | ?&g‘p{,ﬁ W)
(vi) Write the names of four indus 3 4

through the process of F
(vii) Explain Alcoholic Fermen
(vii) What is 1

i il s i 2 10
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(2) %ﬁf&/

v [
SECTIONAI (22 4
e vy, j,gn;ﬁumrm;_g; < o

ns.
NOTE: - Attempt any three questio _Eoepborituny (g &

4
5.(A) Describe Gaseous exchange in Plants. 3 _4‘{”@{ o %
{B) Wite a note on Halophytes.
L (i)
6.(A) Describe the structure and function of a Neuron. 4 .#L-r:JﬁJlu-’vJu 1 1.6
3 gg-fhnfrl-—"u-' SAAT ()

(B} Explain three types of Arthritis.
iéyu:d'm;-uﬂﬂf;ﬂgi.éﬂfbﬂ (.7

7.(A) Define Binary Fission. 4
Explain it with examples.
(8) Write down advantages and 3 _.:_igfa.cuﬁm.fﬁf.w’-“gﬁ{ﬁf&ﬁuu{ (<)
disadvantages of Vegelative Propagation.
Lol ?@#.ﬂiﬁbﬁrjlﬁﬁﬁgﬁﬁw@m: ()-8
)
i (-9
2y

-&Mﬁm;jf ( M} 10
B frive L @

-’&—hr@%ﬁﬂ&_uf&g (ii)
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R CoDE 2016 (A) A
BER: 7“3 S8C PART (10th CLASS)

OLOGY  GROUP-II =/ B

IME ALLOWED. 16 Minutes OBJECTIVE (e w15 =

MAXIMUM MARKS 12 12= A

Aw. o | Sy LTh T { SYT R Lﬁ.,.lli'lj.l:*,lk. I.--.‘:.,J'!r,uqmll .L.;uC.{,..; Dol CaB A mPﬂJEililitJrfﬁ )
U A A eIl 5l Bubbles i itedd el S Juk | LS usmpe Ll -2
Meta: You have four aholoes for anch objectiva type question as A, B, C and D. Ll.,zf-'d")::-aﬂr‘ﬁ;-d‘f
The eholos which you think |s correel, fll that clrale In front of that question number, Use marker or pen
to Nl the olroles. Cutling or Mlling two of more olrcles will result in 2ero mark in that question. Attempt as
many questions as given In objective type question paper and leave othors blank. No cradit will be awarded
in oase BUBBLES are not filled, Do not soive question on this sheet of OBJECTIVE PAPER.

QNo.1 B -1 R

(1 s Ablotio oomponent of Ecosysiam -f.-"*“-'-{fl'—wﬁ't:' S n
(A) Producar Jegly  (B) Herbivores La ¢ (C) Camivores Land¥ (D) Oxygen ST

(2) ___ drug Is otilained from (he plants +$L_-|.'FJ"lm-w:=.-: —y (2
iA) Adpifin o oY {3} Oplum i (C) Cophasloaporin glag e (D) Insulin ufr“

(3) The Enzyme which is used 1o dissolve blood clots |s - e fpmld W ALYE, (3
{A) Urokinase 8.y (B) Interlaron id & {C) Thymosin '+ (D) Beta-andorphin Jn.?elﬁ:.

(4] During meplialian the amaunt of Oxygen in mapied air is- _:fq‘-:'i-"u&ffulﬂdww'ﬁﬁnﬂéu;h i)
(A) 16 % (B) 21 % (C) 4 % R %

(B) ___ s respansible for Filtration of Blood e WL )
(A) Intestine /w8 (B) Brain Lo > (D) Kidney 1"

(B) Insulin and Glucagon are produced In - S o o @
{A) Hypothalamus 7227}  (B) Pituitary. @ (C)
{7} ___ lobe s concerned with hearing and small

(A) Occipital ST - (8) Tompors!

(B) In adull hum 0

T'E | ar of B

1 7 il

i u T el JI

A R
)
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2016 (A) = Ay

BER: 7463 SSC PART-Il (10th CLASS)
LOGY GROUP- bt -t GBI
IME ALLOWED 15 Minutes OBJECTIVE (ﬁéﬂ’ Juctg R o
MAXIMUM MARKS: 12 12= AS

A b\ I3l R arne B &si bl N W2 gL &1 D C B A by ldmg 27
U Ko A e emmfi foi Bubbles -brrbttndilemlli SN | L et &2
Nota: You have four cholces for sach objective type question as A, B, C and D. -—L{M—J:T'-"'w{’:{ L
The choice which you think is correct, fill that circla in front of that question number. Use marker or pan
1o fill the circles, Cutting or filling two or more circles will result in zero mark in that guestion. Attempt as
many questions as glven in objective type question paper and leave others blank. Mo credit will be awarded
in case BUBBLES are not filled. Do not solve question on this shaet of OBJECTIVE PAPER.

Q.No.1 -1 -"3}*3]"' '

{1} For all Ecosystems, the basic source of energy is - ‘,a.zfiﬂm'fﬁﬁdaﬁﬂ'rp (&)
(A) Plants < s (B Waler Jl; (G Sun fur {D) Fire AT

(2) Antiviral protein is- e RS | 2)
(A} Insulin g2 (B) Interderans 72 (C) Thymosin o3 (D) Urokinase ¥

(3) Aspirin is categorised as - if--'—fjfﬁ JL%:D;" (3)
(A} A drug from plants /U ey (B) A drug from minerals ' = shised ) + 4
(C) A synthetic drug  lissss vl (C) A drug from anim A

(4) Inflammation of Brenehi or Bronchioles is called:- N ﬁuﬁﬁﬁﬁ-nﬂ Ihaide: 4
(8) Fiu # (8) Preumonia k»  (C) Bronchilis. Jﬁ’%ﬂ'ﬁl Cough ¥

(5) The tube between Kidney and Urinary Bladder is the-- ..'+_ - rtrﬁww&.ﬁgp@hu’ (5)
' (D) Ureter g
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